
 
Dependent Variable: Y   
Method: Least Squares   
Date: 11/02/07   Time: 16:49   
Sample: 1 10    
Included observations: 10   
Convergence achieved after 12 iterations  
Y=C(1)+(C(2)*X2)^C(1)   

 Coefficient Std. Error t-Statistic Prob.  

C(1) 1.190877 0.165272 7.205558 0.0001
C(2) 1.252692 0.382935 3.271289 0.0113

R-squared 0.916434     Mean dependent var 12.24127
Adjusted R-squared 0.905989     S.D. dependent var 3.462212
S.E. of regression 1.061559     Akaike info criterion 3.134210
Sum squared resid 9.015257     Schwarz criterion 3.194727
Log likelihood -13.67105     Durbin-Watson stat 1.635358

 
 


